Econ 466, Fall 2006
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Total: 100 points

Time: 1 hour and 15 minutes

Note: Answer all questions. Write clearly and legibly. Good Luck!!
                         F values at the 5% level: F(2, 54) = 3.168; 1% level F(2, 54) = 5.021
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t values at the 5%, 2.5% and 1%  level  with 54 df are 2, 2.305, and 2.668.
t values at the 5%, 2.5% and 1%  level  with 55 df are 2, 2.304, and 2.670.
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1. Using 57 observations a labor economist obtained the estimated regression function
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where 
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W

 = earnings in thousand dollars and S = years of schooling. Standard errors are in parentheses.

(i) Sketch the graph of predicted wage given above. (4 points)
(ii) Why is it necessary to have the S2  term in (1)? How would test the hypothesis that the relation in (1) is linear in S?  Perform the test at the 5% level of significance. (8 points)
(iii) Test the hypothesis (state the null and alternative hypotheses) that schooling has no effect on earnings. (6 points)
(iv) Derive the expressions for the marginal return of earnings with respect to schooling. At what value of S will the marginal return from schooling be zero? If your objective is to maximize your earnings, how many years of will you go to school? (10 points)
(v) To predict W and E(W) when S = 12 you ran the above regression slightly differently, and obtained the following result.
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(a) Are you surprised to see that nothing happens to the slope coefficients? Explain. (2 points)
(b) Predict E(W) and  W and compute the 95% confidence interval of E(W) and  W at S = 12. (10 points)
2. Consider the following wage regression in which you have data on gender, 3 racial groups and education (Educ). You are told that DF is a dummy for female, DA is a dummy for Asian, DB is a dummy for Black, and DW is a dummy for White. The estimated regression function is
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(2)
(i) Fill in the following table for mean predicted log W for males and females in different racial groups who has 10 years of education. (12 points)
Predicted log W for 10 years of education

	
	Asian 
	Black 
	White

	Male
	
	
	

	Female
	
	
	


(ii)  What is the reference group? (2 points)
(iii) Interpret each coefficient in the above regression, equation (2). (12 points)
(iv) Calculate the male-female wage differential across different racial groups. Are they same? How would you test the hypothesis that male-female wage difference is the same across all racial groups? (8 points)
(v) Compute the wage difference across different racial groups first for males and then females?  How would you test the hypothesis that there is no wage difference across different racial groups? Is it different from part (iv) above? (8 points)
(vi) Your friend is using the same data but writes the model differently. Use the results from either the regression in (2) or the table above to compute the coefficients of the regression coefficient for her model which is given below. (8 points)
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(vii) Now assume that one is interested only in male-female wage differential (no racial dummies) and want to know whether returns from education differ between the genders. Write down a model that will do so, and explain from this model how to test the hypothesis that returns from education do not differ between the genders. (10 points).
PAGE  
Page 1 of 2

_1224484277.unknown

_1224484281.unknown

_1224484286.unknown

_1224488263.unknown

_1224488072.unknown

_1224484284.unknown

_1224484279.unknown

_1224484273.unknown

_1224484275.unknown

_1224484271.unknown

